sTUUFUMIFUTUTDIA IS

) AUATLUVANMT 6x + 2y = 10 U Sx +2y = 8
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2) WUATLTUVANMT 10x - 2y = 6 PHU  S5x + 3y = -9
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1) WUATZVUAUMS 2x - 3y = 5 AU 2x +4y = -16

391N 01

2) WUATLUVANMT 3x + 4y =4 DU 9x + Ty = 7

M3V




3.3.2m-3n=1 0U 5m + 3n = 13

329101

4. 3m+5n =3 NU -2m + 10n = 2

N39OV




5.-2x + 10y =2 NU 3x + 5y =3

329101

6.x +2y =50 2x +3y =7

N39OV




7. x + 2y =1 A1 3x + 2y =3

329101
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9. 3m-4n =10 AU -2m + 4n = -8

329101

N39OV




11.3m-n=9 AU 2m + 5n = -11

329101

12.4m + 5n =41 DU 3m-2n =2

N39OV




x 1 X+2y=1 0l 2x +3y = 3



x2 x+2y=3ﬁﬂ 3x +2y =5



Ex 2x + 10y =2 0l 3x + 5y = 3



